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Toyota Commercial

Filming Editing Printing
Department Department Department

Direct Material Cost.. $1,200 - $160

Direct Labor Cost.. $3,000 4,000 $400

Direct Labor Time. 250 Hours 400 Hours 38 Hours

19. Allocating overhead. Cameron Company has two production departments and a main-
tenance department. In addition, the company keeps other costs for the general plant
in a separate account. The estimated cost data for Year 1 follow:

Production Production
Cost Dept. 1 Dept. 2 Maintenance  General Plant
Direct Labor . $100,000 $ 60,000 - -
Indirect Labor . 56,000 28,000 $45,000 $40,000
Indirect Materials 18,000 14,000 1,800 16,000
Miscellaneous 6,000 10,000 3,200 10,000
$180,000 $112,000 $50000 966,000
Maintenance T6,000 Hours 24,000 Hours = —

The general plant services the three departments in the following proportions: 50
percent (Department 1); 30 percent (Department 2); 20 percent (Maintenance). Allocate
maintenance costs based on maintenance hours.

Allocate maintenance department and general plant cos
departments. Use the step method, starting with general plant costs.

to the production

20. Allocating overhead to jobs. Hamilton, Inc., uses a job system of cost accounting. The
data presented here relate to operations in its plant during January

Hamilton, Inc., has two production departments and one service department
The actual factory overhead costs during the month are $8,000. At the end of the
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Department X Department Y
Units of Units of
Costs Activity  Costs  Activity
. Number of Different Parts $ 8,000 40 Parts § 1,600 10 Parts
2. Number of Machine Hours Worked. $208,000 32,000 Hours  $60,000 3,000 Hours
3. Number of Hours to Set Up Jobs.. $ 26,000 300 Houws $ 8000 100 Hours

Job CLK430 required the following activities:

Department X: 10 parts, 1,000 machine hours, 20 setup hours.
Department Y: 4 parts, 400 machine hours, 10 setup hours.

Allocate overhead costs to Job CLK430.

24. Joint-process costing. Search the Internet for an example of a company that cither uses
joint-process costing or provides joint-process cost consulting services. Prepare a short
presentation that explains (a) the nature of the organization (industry, products, and/or
services), (b) how it uses joint-process costing, and (¢) how important you believe joint-
process costs are to its decision making.

25. Joint-process costing and net realizable method. A company processes a chemical, DX-1,
through a pressure treatment operation. The complete process has two outputs, L and
T. The January costs to process DX-1 are $50,000 for materials and $100,000 for con-
version costs. This processing results in two outputs, L and T, that sell for a total of
§250,000. The sales revenue from L amounts to $200,000 of the total. Using the net
realizable method, assign costs to L and T for January.

26. Using joint-process costing to measure product costs. The following information is for

Tiger Company, which manufactures products X, Y, and Z from a joint process. Joint

product costs were $63,000. Additional information follows.

1f Processed Further

Units Produced  Sales Value at Splitoff  Sales Values  Additional Costs

14,000 $80,000 $110,000 $18,000
10,000 70,000 90,000 14,000
4,000 50,000 60,000 10,000

. Assuming that joint product costs are allocated using the physical quantities method,
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